This article was downloaded by: [Hebrew University]
On: 13 July 2010
Access details: Access Details: [subscription number 919316431]
Publisher Taylor \& Francis
Informa Ltd Registered in England and Wales Registered Number: 1072954 Registered office: Mortimer House, 3741 Mortimer Street, London W1T 3JH, UK


## Communications in Algebra

Publication details, including instructions for authors and subscription information:
http://www.informaworld.com/smpp/title content=t713597239

## A Class of Semigroups of Finite Representation Type

Thawat Changphas ${ }^{\text {a }}$; Vlastimil Dlab ${ }^{\text {b }}$
${ }^{\text {a }}$ Department of Mathematics, Khon Kaen University, Khon Kaen, Thailand ${ }^{\text {b }}$ School of Mathematics and Statistics, Carleton University, Ottawa, Ontario, Canada

To cite this Article Changphas, Thawat and Dlab, Vlastimil(2008) 'A Class of Semigroups of Finite Representation Type', Communications in Algebra, 36: 4, 1474-1479
To link to this Article: DOI: 10.1080/00927870701866853
URL: http://dx.doi.org/10.1080/00927870701866853

## PLEASE SCROLL DOWN FOR ARTICLE

```
Full terms and conditions of use: http://www.informaworld.com/terms-and-conditions-of-access.pdf
This article may be used for research, teaching and private study purposes. Any substantial or systematic reproduction, re-distribution, re-selling, loan or sub-licensing, systematic supply or distribution in any form to anyone is expressly forbidden.
The publisher does not give any warranty express or implied or make any representation that the contents will be complete or accurate or up to date. The accuracy of any instructions, formulae and drug doses should be independently verified with primary sources. The publisher shall not be liable for any loss, actions, claims, proceedings, demand or costs or damages whatsoever or howsoever caused arising directly or indirectly in connection with or arising out of the use of this material.
```


# A CLASS OF SEMIGROUPS OF FINITE REPRESENTATION TYPE 

Thawat Changphas ${ }^{1}$ and Vlastimil Dlab ${ }^{2}$

${ }^{1}$ Department of Mathematics, Khon Kaen University, Khon Kaen, Thailand
${ }^{2}$ School of Mathematics and Statistics, Carleton University, Ottawa, Ontario, Canada

In their study of the class of standardly stratified algebras with $n$ irreducible representations, Ágoston et al. (to appear) have introduced two operators $\Sigma$ and $\Omega$ acting on the class and satisfying the following relations:

$$
\Sigma^{2}=\Sigma, \quad \Omega^{2}=\Omega \quad \text { and } \quad \Sigma(\Omega \Sigma)^{n-1}=(\Omega \Sigma)^{n-1}
$$

In this little note we are presenting a complete description of indecomposable linear representations of the respective semigroups

$$
\bar{S}_{n}=\left\langle a, b \mid a^{2}=a, b^{2}=b,(a b)^{n-1} a=(a b)^{n-1}\right\rangle \dot{\cup}\{1\}
$$

by constructing the graph semigroups $T_{n}$ (see Dlab and Pospíchal, 2002) such that the semigroup algebras $K T_{n}$ and $K \bar{S}_{n}$ are isomorphic. The number of indecomposable representations of $\bar{S}_{n}$ is $2(2 n-1)$ for $n>1$ (of which 4 are irreducible) and all indecomposable representations of $\bar{S}_{n}$ are uniserial.

Key Words: Finite representation type; Graph semigroups; Indecomposable representations; Linear representations of semigroups.

2000 Mathematics Subject Classification: Primary 20M30, 16G20; Secondary 16G60, 16G70.

## STRUCTURE OF $\boldsymbol{K} \overline{\boldsymbol{S}}_{\boldsymbol{n}}$

Given the semigroup

$$
S_{n}=\left\langle a, b \mid a^{2}=a, b^{2}=b,(a b)^{n-1} a=(a b)^{n-1}\right\rangle,
$$

attach to $S_{n}$ the unity 1 and denote the resulting semigroup by

$$
\bar{S}_{n}=S_{n} \dot{\cup}\{1\} .
$$

Received December 21, 2006; Revised January 31, 2007. Communicated by I. P. Shestakov.
Address correspondence to Vlastimil Dlab, School of Mathematics and Statistics, Carleton University, Ottawa, Ontario K1S 5B6, Canada; Fax: (613) 520-3536; E-mail: vdlab@math.carleton.ca

Thus, $\bar{S}_{n}$ has $2(2 n-1)$ elements

$$
\begin{aligned}
& a_{2 k-1}=(a b)^{k-1} a, \quad a_{2 k}=(a b)^{k} \quad \text { for } 1 \leq k \leq n-1, \\
& b_{2 k-1}=(b a)^{k-1} b, b_{2 k}=(b a)^{k} \quad \text { for } 1 \leq k \leq n-1, \\
& b_{2 n-1}=(b a)^{n-1} b \text { and } 1 .
\end{aligned}
$$

Note that $a_{1}=a$ and $b_{1}=b$.
One can easily check the following multiplication table for $\bar{S}_{n}$ :

$$
\begin{aligned}
a_{1} a_{s} & =a_{s} \quad \text { for all } 1 \leq s \leq 2 n-2, \\
a_{2 r} a_{s} & =a_{2 r+1} a_{s}=a_{t}, \quad \text { where } t=\min (2 r+s, 2 n-2),
\end{aligned}
$$

for all $1 \leq r \leq n-2$ and $1 \leq s \leq 2 n-2$,

$$
\begin{aligned}
a_{2 n-2} a_{s} & =a_{2 n-2} \quad \text { for all } 1 \leq s \leq 2 n-2 \\
a_{2 r-1} b_{s} & =a_{2 r} b_{s}=a_{t}, \quad \text { where } t=\min (2 r+s-1,2 n-2) \\
\text { for all } 1 & \leq r \leq n-2 \text { and } 1 \leq s \leq 2 n-1, \\
b_{2 r-1} a_{s} & =b_{2 r} a_{s}=b_{t}, \quad \text { where } t=\min (2 r+s-1,2 n-2) \\
\text { for all } 1 & \leq r \leq n-1 \text { and } 1 \leq s \leq 2 n-2, \\
b_{2 n-1} a_{s} & =b_{2 n-1} \quad \text { for all } 1 \leq s \leq 2 n-2 ; \\
b_{1} b_{s} & =b_{s} \quad \text { for all } 1 \leq s \leq 2 n-1
\end{aligned}
$$

and

$$
\begin{aligned}
& b_{2 r} b_{s}=b_{2 r+1} b_{s}=b_{t}, \quad \text { where } t=\min (2 r+s, 2 n-1) \\
& \text { for all } 1 \leq r \leq n-1 \text { and } 1 \leq s \leq 2 n-1 .
\end{aligned}
$$

Now, let $K$ be a field and

$$
A_{n}=K \bar{S}_{n}
$$

the semigroup algebra of $\bar{S}_{n}$.
For $n=1$, clearly, $A_{1} \simeq K \oplus K=K b \oplus K(1-b)$ is semisimple, and for $n=2$, $A_{2}$ is hereditary with a $K$-basis consisting of

$$
\begin{gathered}
e_{1}=b_{1}-b_{2}, \quad e_{2}=a_{1}-a_{2}, \quad e_{3}=1-b_{1}+b_{2}-a_{1}+a_{2}-b_{3}, \quad e_{4}=b_{3}, \\
g=b_{2}-b_{3} \quad \text { and } \quad h=a_{2}-b_{3} .
\end{gathered}
$$

Thus $A_{2}$ is the path algebra of the quiver


For $n \geq 3$, define the following elements of $A_{n}$ :

$$
\begin{aligned}
& e_{1}=\sum_{i=1}^{2 n-2}(-1)^{i+1} b_{i}, \\
& e_{2}=\sum_{i=1}^{2 n-2}(-1)^{i+1} a_{i}, \\
& e_{3}=1-e_{1}-e_{2}-b_{2 n-1}, \\
& e_{4}=b_{2 n-1}, \\
& g_{1}=b_{2}-b_{3}, \\
& g_{2}=a_{2}-a_{3} \quad \text { and } \\
& g_{3}=a_{2 n-2}-b_{2 n-1} .
\end{aligned}
$$

It is a straightforward calculation to check the following multiplication table (Table 1).

Moreover, we can show that

$$
\left(g_{1} g_{2}\right)^{n-2}=b_{2 n-3}-b_{2 n-2}+(2 n-5) b_{2 n-1}
$$

Indeed, we can show that for any $1 \leq t \leq n-2$,

$$
\begin{equation*}
\left(g_{1} g_{2}\right)^{t}=b_{2 t+1}-b_{2 t+2}+\sum_{p=t+1}^{n-2} \alpha_{p}\left(b_{2 p+1}-b_{2 p+2}\right) \quad \text { for suitable integers } \alpha_{p} \tag{*}
\end{equation*}
$$

This is true for $t=1$, since

$$
g_{1} g_{2}=b_{3}-b_{4}+(-1)\left(b_{5}-b_{6}\right)
$$

Observe that, in general,

$$
\left(b_{2 t+1}-b_{2 t+2}\right) g_{1} g_{2}=b_{2 t+3}-b_{2 t+4}-2 \alpha\left(b_{2 t+5}-b_{2 t+6}\right)+\beta\left(b_{2 t+7}-b_{2 t+8}\right),
$$

Table 1

| $\cdot$ | $e_{1}$ | $e_{2}$ | $e_{3}$ | $e_{4}$ | $g_{1}$ | $g_{2}$ | $g_{3}$ |
| :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| $e_{1}$ | $e_{1}$ | 0 | 0 | 0 | $g_{1}$ | 0 | 0 |
| $e_{2}$ | 0 | $e_{2}$ | 0 | 0 | 0 | $g_{2}$ | 0 |
| $e_{3}$ | 0 | 0 | $e_{3}$ | 0 | 0 | 0 | $g_{3}$ |
| $e_{4}$ | 0 | 0 | 0 | $e_{4}$ | 0 | 0 | 0 |
| $g_{1}$ | 0 | $g_{1}$ | 0 | 0 | 0 | $g_{1} g_{2}$ | 0 |
| $g_{2}$ | $g_{2}$ | 0 | 0 | 0 | $g_{2} g_{1}$ | 0 | 0 |
| $g_{3}$ | 0 | 0 | 0 | $g_{3}$ | 0 | 0 | 0 |

where $\alpha$ and $\beta$ equal to 0 or 1 , and thus, proceeding by induction, (*) follows. In particular, for $t=n-2$, we have

$$
\left(g_{1} g_{2}\right)^{n-2}=b_{2 n-3}-b_{2 n-2}+(2 n-5) b_{2 n-1} .
$$

Furthermore, one can verify easily that

$$
\begin{gathered}
\left(g_{1} g_{2}\right)^{n-2} g_{1}=b_{2 n-2}-b_{2 n-1} \\
\left(g_{1} g_{2}\right)^{n-1}=0 \quad \text { and } \quad g_{2}\left(g_{1} g_{2}\right)^{n-2}=\left(g_{2} g_{1}\right)^{n-2} g_{2}=0
\end{gathered}
$$

Remark here that $\left(g_{2} g_{1}\right)^{n-2}=a_{2 n-3}-a_{2 n-2}$.
As a result, we can formulate the following theorem.

Theorem. For every $n \geq 3$,

$$
A_{n} \simeq A_{n}^{(1)} \oplus A_{n}^{(2)},
$$

where $A_{n}^{(1)}=K Q_{1} /\left\langle\left(g_{2} g_{1}\right)^{n-2} g_{2}\right\rangle$ is a factor algebra of the path algebra over the quiver

$$
Q_{1}=\stackrel{1}{\bullet} \underset{g_{2}}{\stackrel{g_{1}}{\rightleftarrows}}{ }^{-}
$$

and $A_{n}^{(2)}$ is the path algebra over the quiver

$$
Q_{2}={ }^{3} \bullet \xrightarrow{g_{3}} \stackrel{4}{\bullet} .
$$

Thus, $A_{n}$ is of finite representation type: There are $4 n-5$ indecomposable representations of $A_{n}^{(1)}$ and 3 indecomposable representations of $A_{n}^{(2)}$. All these representations are uniserial.

Proof. It is easy to see that

$$
B_{1}=\left\{e_{1}, g_{1}, g_{1} g_{2}, g_{1} g_{2} g_{1}, \ldots,\left(g_{1} g_{2}\right)^{n-2} g_{1}, e_{2}, g_{2}, g_{2} g_{1}, g_{2} g_{1} g_{2}, \ldots,\left(g_{2} g_{1}\right)^{n-2}\right\}
$$

is a $K$-basis of $A_{n}^{(1)}$ and the set

$$
B_{2}=\left\{e_{3}, g_{3}, e_{4}\right\}
$$

is a $K$-basis of $A_{n}^{(2)}$. Thus, $\operatorname{dim}_{K} A_{n}=\operatorname{dim}_{K} A_{n}^{(1)}+\operatorname{dim}_{K} A_{n}^{(2)}$ and the theorem follows.
Remark 1. Denoting by $S_{1}$ and $S_{2}$ the simple representations of $A_{n}^{(1)}$ corresponding to the idempotents $e_{1}$ and $e_{2}$, respectively, we can display the Auslander-Reiten
quiver as follows:

where $U_{t}, 1 \leq t \leq 2 n-2$, are the uniserial modules with the composition series $S_{1}, S_{2}, S_{1}, S_{2}, \ldots$ of length $t$ and $V_{t}, 1 \leq t \leq 2 n-3$, are the uniserial modules with the composition series $S_{2}, S_{1}, S_{2}, S_{1}, \ldots$ of length $t$. Here, $P_{1}$ and $P_{2}$ are the indecomposable projective representations.

Remark 2. Note that $A_{n}$ is isomorphic to the semigroup algebra of the graph semigroup $T_{n}$ defined by the set $E=\left\{e_{1}, e_{2}, e_{3}, e_{4}\right\}$ of the orthogonal idempotents and the set $G=\left\{g_{1}, g_{2}, g_{3}\right\}$ of the generators in the terminology of Dlab and Pospíchal (2002).

Remark 3. Let us describe the (unique) expressions for the generators $a$ and $b$ of $S_{n}$ in terms of the basis $B_{1} \cup B_{2}$ :

$$
a=e_{2}+g_{2}+\kappa_{1} g_{2} g_{1} g_{2}+\kappa_{2}\left(g_{2} g_{1}\right)^{2} g_{2}+\cdots+\kappa_{n-3}\left(g_{2} g_{1}\right)^{n-3} g_{2}+g_{3}+e_{4}
$$

with suitable integers $\kappa_{t}, 1 \leq t \leq n-3$, and

$$
b=e_{1}+g_{1}+\lambda_{1} g_{1} g_{2} g_{1}+\lambda_{2}\left(g_{1} g_{2}\right)^{2} g_{1}+\cdots+\lambda_{n-3}\left(g_{1} g_{2}\right)^{n-3} g_{1}+\left(g_{1} g_{2}\right)^{n-2} g_{1}+e_{4}
$$

with suitable integers $\lambda_{t}, 1 \leq t \leq n-3$.
The expressions follow immediately using the relations

$$
g_{2}\left(g_{1} g_{2}\right)^{t}=a_{2 t+2}-a_{2 t+3}+\sum_{p=t+1}^{n-3} \kappa_{p}\left(a_{2 p+2}-a_{2 p+3}\right)
$$

and

$$
\left(g_{1} g_{2}\right)^{t} g_{1}=b_{2 t+2}-b_{2 t+3}+\sum_{p=t+1}^{n-3} \lambda_{p}\left(b_{2 p+2}-b_{2 p+3}\right)
$$

that can be easily derived from (*).

Table 2

|  | $a_{2 r-1}$ | $a_{2 r}$ | $b_{2 r-1}$ | $b_{2 r}$ |
| :--- | :---: | :---: | :---: | :---: |
| $a_{2 s-1}$ | $a_{h-3}$ | $a_{h-2}$ | $a_{h-2}$ | $a_{h-1}$ |
| $a_{2 s}$ | $a_{h-1}$ | $a_{h}$ | $a_{h-2}$ | $a_{h-1}$ |
| $b_{2 s-1}$ | $b_{h-2}$ | $b_{h-1}$ | $b_{h-3}$ | $b_{h-2}$ |
| $b_{2 s}$ | $b_{h-2}$ | $b_{h-1}$ | $b_{h-1}$ | $b_{h}$ |

## FINAL REMARKS

Defining formally $a_{p}$ to be the product $a b a b \ldots$ with $p$ factors (resulting in the equalities $a_{p}=a_{2 n-2}$ for all $p \geq 2 n-2$ ) and $b_{q}$ to be the product $b a b a \ldots$ with $q$ factors (and thus having $b_{q}=b_{2 n-1}$ for all $q \geq 2 n-1$ ), we obtain the following simple multiplication table (Table 2) with $h=2(r+s)$.

From Table 2, one can get immediately the following formulae (for all $t \geq 1$ ):

$$
\begin{aligned}
\left(g_{1} g_{2}\right)^{t} & =\sum_{i=0}^{2 t-1}(-1)^{i}\binom{2 t-1}{i}\left(b_{2(t+i)+1}-b_{2(t+i)+2}\right), \\
\left(g_{1} g_{2}\right)^{t} g_{1} & =\sum_{i=0}^{2 t}(-1)^{i}\binom{2 t}{i}\left(b_{2(t+i)+2}-b_{2(t+i)+3}\right) \\
\left(g_{2} g_{1}\right)^{t} & =\sum_{i=0}^{2 t-1}(-1)^{i}\binom{2 t-1}{i}\left(a_{2(t+i)+1}-a_{2(t+i)+2}\right),
\end{aligned}
$$

and

$$
\left(g_{2} g_{1}\right)^{t} g_{2}=\sum_{i=0}^{2 t}(-1)^{i}\binom{2 t}{i}\left(a_{2(t+i)+2}-a_{2(t+i)+3}\right) .
$$

It is then a matter of simple computations to write down the formulae for $a$ and $b$ in terms of $e_{1}, e_{2}, e_{3}, e_{4}, g_{1}, g_{2}$, and $g_{3}$ explicitly. The reader may find easily that $\kappa_{p}=\lambda_{p}$ for all $p \geq 1$ with $\kappa_{1}=\lambda_{1}=1$ and that, writing $q=p-\left[\frac{p-1}{3}\right]$,

$$
\kappa_{p}=1+\sum_{i=1}^{q-1}(-1)^{q+i+1}\binom{2(p-q+i)}{q-i} \kappa_{p-q+i} \quad \text { for all } p \geq 2 .
$$

Thus, for instance, $\kappa_{5}=273$ and $\kappa_{10}=1430715$.
Added December 13, 2007: In a recent letter, Prof. József Pelikán of Eötvös Loránd University in Budapest informs us that

$$
\kappa_{p}=\frac{1}{2 p+1}\binom{3 p}{p}
$$

## REFERENCES

Ágoston, I., Dlab, V., Lukács, E. Approximations of algebras by standardly stratified algebras. To appear in J. Algebra (accepted).
Dlab, V., Pospíchal, T. (2002). Graph Semigroups. Advances in Algebra: Proc. ICM Satelitte Conf. in Algebra, Hong Kong, 2002, World Scientific, pp. 98-111.

